
 

INSTRUCTION SHEET BMW R18  2020>  REAR 
Page 1 of 3 

 
INSTRUCTION SHEET BMW R18 2020>  

BM18-0AA / BM18-1AA 
 (also with optional preload)  

 

 
 

• Place the bike on the center stand or lift the bike and remove the current 
shock absorber . 
 

• Place the Hyperpro shock in the bike.  
 

• The adjuster knob of the (optional) HPA on the shock must be facing to the 
right hand side of the bike. 
 

• Reservoir is facing the left hand side 
 

• Place the bracket between the footrest bolt and footrest 
 

• Make sure the hose is not obstructed. 
 
 



 

INSTRUCTION SHEET BMW R18  2020>  REAR 
Page 2 of 3 

 
 

 

• Tighten all the bolts with the correct torque (see bike manual) 
 
 

 
 
 
ADDED HARDWARE 461 Reservoir mounting : 
 
Bolt M6x12 BH   2 pcs. 
Bracket 3D-BR-00-075  1 pc. 
Clamp 3D-00-60-517AS  1 pc. 
Tie wrap L 150   1 pc. 
 



 

INSTRUCTION SHEET BMW R18  2020>  REAR 
Page 3 of 3 

 
 
 
 

 

• Remove the side cover to slide the HPA adjuster knob through. 
 

• Route the hose between the frame and the side cover, as shown. 
 

• Make sure the hose is not obstructed. 
 
 
ADDED HARDWARE 460/461 HPA mounting : 
 
Bolt M6x25    2 pcs 
Washer M6    4 pcs 
Nyloc nut M6    2 pcs 
Bracket 3D-BR-00-074  1 pc. 
Tie wrap L 150   1 pc. 

 


